
Factorisation

o Factorise  
o Fais le calcul  

2 x 21 - 1 x 2 =

66 x 3 - 6 x 3 =

32 x 6 - 6 x 2 =

4 x 54 - 4 x 4 =



Factorisation

o Factorise  
o Fais le calcul  

33 x 2 - 3 x 2 =

3 x 78 - 3 x 8 =

29 x 4 - 4 x 9 =

8 x 51 - 1 x 8 =



Factorisation

o Factorise  
o Fais le calcul  

76 x 9 - 9 x 6 =

4 x 65 - 5 x 44 =

68 x 2 - 8 x 2 =

27 x 8 - 8 x 7 =



Factorisation

o Factorise  
o Fais le calcul  

9 x 51 - 1 x 9 =

42 x 3 - 3 x 2 =

3 x 56 - 6 x 3 =

47 x 5 - 5 x 7 =



Factorisation

o Factorise  
o Fais le calcul  

9 x 82 - 2 x 9 =

85 x 5 - 5 x 5 =

75 x 6 - 5 x 6 =

3 x 76 - 6 x 3 =



Factorisation

o Factorise  
o Fais le calcul  

4 x 98 - 4 x 8 =

24 x 7 - 4 x 7 =

93 x 3 - 3 x 3 =

69 x 2 - 9 x 2 =



Factorisation

o Factorise  
o Fais le calcul  

67 x 8 - 7 x 8 =

3 x 46 - 3 x 6 =

7 x 27 - 7 x 7 =

34 x 8 - 8 x 4 =



Factorisation

o Factorise  
o Fais le calcul  

32 x 5 - 5 x 2 =

9 x 54 - 4 x 9 =

65 x 2 - 5 x 2 =

8 x 49 - 8 x 9 =



Factorisation

o Factorise  
o Fais le calcul  

27 x 4 - 4 x 7 =

44 x 2 - 4 x 2 =

23 x 6 - 6 x 3 =

5 x 38 - 8 x 5 =



Factorisation

o Factorise  
o Fais le calcul  

6 x 58 - 6 x 8 =

82 x 5 - 2 x 5 =

2 x 93 - 3 x 2 =

39 x 3 - 3 x 9 =



Factorisation

o Factorise  
o Fais le calcul  

7 x 49 - 9 x 7 =

67 x 4 - 4 x 7 =

5 x 89 - 5 x 9 =

72 x 6 - 2 x 6 =



Factorisation

o Factorise  
o Fais le calcul  

56 x 9 - 9 x 6 =

8 x 74 - 4 x 8 =

83 x 6 - 6 x 3 =

7 x 95 - 7 x 5 =



Factorisation

o Factorise  
o Fais le calcul  

72 x 5 - 5 x 2 =

24 x 6 - 4 x 6 =

4 x 98 - 8 x 4 =

93 x 3 - 3 x 3 =


